Sheet 3

3.2 For the circuit in Fig. 3.51, obtain v, and v».

2C
VA

2
o)
Z/

[

i

|

10 Q 50 40 () 6a

3.8 Using nodal analysis, find v, in the circuit of Fig. 3.57.

3Q 5Q

v

10
A
1A 21,
) AN
L ~—/ N




3.21 For the circuit in Fig. 3.70, find v, and v, using
nodal analysis.
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3.41 Apply mesh analysis to find 7 in Fig. 3.87.
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3.52 Use mesh analysis to find i,. />, and 75 1n the circuit
1} ofFig. 3.97.
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3.67 Obtain the node-voltage equations for the circuit in
j:l Fig. 3.111 by inspection. Then solve for V.
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3.73 Write the mesh-current equations for the circuit in
Fig. 3.117.
20 5Q
—WWWy MV
6v (2 @ 3£1§ q G av
4Q
— AW
1Q G) 1Q @ 1Q
P O
N -





